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Integrated English 1A

Reading Comprehension 4  Morris Goes to School: P. 38-49

1. Arithmetic is when you use
a. Letters
b. Numbers
c. Songs
2. What number did the boy forget to say?
a. four
b. eight
C. nine
3. How high could Morris count using his hoofs and antlers?
a. four
b. ten
c. twelve
4. Did Morris know how to sing a song?
a. yes
b. no
5. What does a railroad have?
a. A railroad has a ladder.
b. A railroad has tracks.
c. A railroad has a song.
6. What does a fireman use?
a. A fireman uses a ladder.
b. A fireman uses tracks.

C. A fireman uses a railroad.
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